Geometry — Mr. Bo Name: _

Unit 6 — Day 2 Notes Date:

Special Parallelograms
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Diagonals of a Rectangle:
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Example:
- ABCD is a rectangle. If AB = 24, BC = 10, and <1 = 50°, find the following:
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Diagonals of a Rhombus: B
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Example:

ABCD is a thombus. if AB = 6, XC = 3, and <DAB = 120°, find the following:
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Example:
ABCD is a square. If AB = 16 and AC = 16v2, find the following:
A /L a.BC=_/6_ 0. 2=__4S"
B b. BD=_/G{Z f. <AXB = _L_
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Summary: Quadrilateral Family Tree

<ler |

Sz)ooeﬂ- /

v e Diew o, & G’ S o

1. 2. Biseck Wt & 3. Q2 %
55° i rC B.I t I.|C
5x-23= -
Aj t rD

M4 ABD= M <CBD A= BD

-4 = X 85 +90 +X =150 Sx-25="x+io
= ‘(9 l‘( S ¢+X= (%0
o e X =33



